

a)

$$y' = 2$$

Tylko funkcje liniowe
maja pochodna stale
rowna liczbie niezerowej.

$$y(x) = 2x + b$$

$$y(0) = b = 2$$

$$y(x) = 2x + 2$$

b)

$$y' = \frac{y}{x} \quad \text{Przyjmujemy}$$

$$g(x) = \frac{1}{x}, \quad f(y) = \frac{1}{y}$$

Wtedy

$$\frac{y'}{y} = \frac{1}{x}$$

$$\int \frac{y'(x)}{y(x)} dx = \int \frac{1}{x} dx$$

$$\begin{aligned} \parallel y &= y(x) \parallel \\ dy &= \frac{dy}{dx} dx \end{aligned}$$

$$\int \frac{1}{y} dy = \int \frac{1}{x} dx$$

$$\log y(x) = \log x + C$$

Podane to $y(1) = 5$

$$\log 5 = 0 + 5, \text{ czyli } C = 5.$$

$$\log y(x) = \log x + 5 \quad | e^{\cdot}$$

$$y(x) = e^5 \cdot x$$

c)

$$y' = -y^2 e^x, \quad f(y) = \frac{1}{-y^2}$$

$$g(x) = e^x$$

$$\frac{y'}{-y^2} = e^x$$

$$-\int \frac{y'}{y^2} dx = \int e^x dx$$

$$-\int \frac{1}{y^2} dy = \int e^x dx$$

$$\frac{1}{y} = e^x + C$$

Bedingung $y(0) = \frac{1}{2}$

$$2 = 1 + C$$

$$C = 1$$

$$\longrightarrow y(x) = \frac{1}{1 + e^x}$$